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Dérivation de fonctions composées

Formule générale : (f(u(x))) =u'(x)>< f'(u(x))

I—Ul X)x ! = U'(X)

EXERCICE 2B.1 ( u(x)) =u (x) 2\/u(x) 2\/u(x)

1 f(x)=v9x-5 2. f(x)=3x%+6x-1 3. f(x)= |24
u(x — u(x): x-1
u'(x)= u'(x)= u(x)=

£1(x)= £(x)= u'(x) =

f'(x)=

EXERCICE 2B.2 ((u (x))n ) =nx(u (x))n_l XU (x)

1. f(x)=(4x2+2x—7)5 2. (x)= x+1Y

u(x)= (X_J

u'(x)= u(x)=

EXERCICE 2B.3 Dériver la fonction f définie par f(x)= (3— xz)\/ X2 —3x+7
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L 1 u'(x)
EXERCICE 2B.1 U(x)) =u (x)x =
( ()) (%) 2\/u(x) 2\/u(x)
1. f(X): 9x -5 2. f(X):",3X2+6X—1 3. f(X): 2x+1
u(x)=9x-5 u(x)=3x%+6x-1 x-1
u'(x)=9 . u(x):2X+1
u'(x)=6x+6 x—1
! 2(x-1)—(2x+1
f(x)= 9 , 6X+6 3x+3 u'(x)= (x-1) (2 )
24J9x -5 f'(x)= = (x-1)
- 2 2
2(3x2 +6x—1 /3x2 +6x-1 w222 4
(x 1) (x 1)
Donc f
\/2x+1
2x+
EXERCICE 2B.2 ((u(x))n) =nx(u(x))n_l><u'(x)
1. f(x)=(4x2+2x—7)5 2 f(X):(X__l_ljz
x—1
—4x%+2x-7
u'(X) 8x +2X u(x)_X_Jrl eu'(x)—(x_l)_(XH)— -2
u'(x)=8x+ 1 (x—1)2 (x—1)2
- —4(x+1)
oy ) e Fo(x) =2 x+1) 2 _
f (x)—5(4x +2X 7) (8x+2) (x) (x—l X(x—l)z (X_1)3
XS +2 )
3. f =
(X) (3x—5
X342 L 3(3x=5)-(P+2)x3 93 155233 _6 6x3—15x2 -6
u(x)= ~ > u'(x)= 2 = 2 = 2
3x-5 (3x-5) (3x-5) (3x-5)
3 2
f,(x)_l{x +2] 6x~ —15x 2—6
3x—5 (3x-5)
EXERCICE 2B.3 Dériver la fonction f définie par f(x)=(3—x2)\/x2—3x+7
_ 2 ) _[.2 gy 2X=3
u(x)=3-x >u'(x)=-2x et  v(x)=vx -3x+7 9v(x)_22—
XS =3x+7
x—3  (-209x2(x* -3x+7)+(3-x%)(2x-3)
f'(x):(—2x)\/x2—3x+7+(3—x2) =
2\x% —3x+7 2\/x2—3x+7

43 +12x% —28x+6x—9-2x+3x%  —6x3 +15x° —22x—9

24x2 —3x+7 2\x% —3x+7
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